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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is operating cycle ? Explain with example. What 

are the various policies of working capital financing of 

a firm. 

ifjpkyu pØ D;k gS \ mnkgj.k lfgr O;k[;k dhft;sA 

fdlh QeZ dh dk;Z’khy iw¡th ds foŸkiks”k.k dh fofHkUu 

uhfr;k¡ D;k gSa \ 

2. Discuss the salient features, rationale, advantages and 

disadvantages of NPV method of project evaluation. 

With the help of assumed figures explain the method 

of calculating NPV. 

ifj;kstuk ewY;kadu dh NPV fof/k dh izeq[k fo’ks”krkvksa] 

rkfdZdrk] ykHk ,oa gkfu;ksa dh ppkZ dhft,A dkYifud 

leadksa dh lgk;rk ls NPV fudkyus dh fof/k le>kb;sA 

3. “In Walter model, the dividend policy of the firm 

depends on the availability of investment opportunities 

and the relation between the firms internal rate of 

return and its cost of capital.” Examine the statement 

and also discuss the shortcomings of the model. 

ßokYVj ekWMy esa] QeZ dh ykHkka’k uhfr fofu;ksx ds voljksa 

dh miyC/krk rFkk QeZ dh vkUrfjd izfrQy nj ,oa iw¡th 

ykxr ds e/; lEcU/k ij fuHkZj djrh gSAÞ bl dFku dk 

ijh{k.k dhft;s rFkk ekWMy dh dfe;ksa dh foospuk dhft,A 
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4. Discuss the factors influencing the capital structure of 

a company. 

,d dEiuh dh iw¡th lajpuk dks izHkkfor djus okys dkjdksa 

dh ppkZ dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What are the important functions of financial 

management ? 

foŸkh; izca/ku ds dkSu&ls egRoiw.kZ dk;Z gSa \ 

2. What are the different forms of long-term debt capital 

available to a company ? 

,d dEiuh gsrq fdrus izdkj dh nh?kZdkyhu _.k i¡wth 

miyC/k gksrh gS \ 

3. What is time value of money ? Why is it considered 

important for the finance manager of a firm ? 

/ku dk le;&ewY; D;k gS \ ,d QeZ ds foŸk izca/kd ds 

fy;s ;g D;ksa egRoiw.kZ ekuk tkrk gS \ 
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4. Evaluate equity shares as a source of capital. 

,d iw¡th lzksr ds :i esa lerk va’kksa dk vkdyu dhft;sA 

5. What are various sources of short-term credit available 

to an enterprise in India ? 

Hkkjr esa ,d m|e dks miyC/k fofHkUu vYidkfyd _.k 

lzksr D;k gS \ 

6. Define cost of capital and explain its usefulness. 

iw¡th ykxr dks ifjHkkf”kr dhft;s rFkk bldh mi;ksfxrk dh 

O;k[;k dhft,A 

7. Write a note on Efficient Cash Management. 

izHkko’kkyh jksdM+ izcU/k ij ,d fVIi.kh fyf[k,A 

8. Explain the importance of dividend decision in 

maximising the value of the firm. 

QeZ ds ewY; vf/kdredj.k esa ykHkka’k fu.kZ; dh egŸkk 

le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Motives for holding cash do not include investment 

motive. 

jksdM+ j[kus ds izsjdksa esa fofu;ksx&izsjd lfEefyr ugha  

gSA 
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2. Size of debtor is influenced by collection policy. 

nsunkjksa dk vkdkj ,d=hdj.k uhfr ls izHkkfor gksrk  

gSA 

3. Working capital is the capital invested in the business 

to meet its day-to-day requirements. 

O;olk; dh jkstejkZ dh t:jrksa dks iwjk djus gsrq fuosf’kr 

iw¡th dk;Z’khy iw¡th dgykrh gSA 

4. The discount rate must be determined in advance for 

non-DCF methods of capital budgeting. 

iw¡th ctVu dh Non-DCF fof/k;ksa ds fy;s fMLdkmaV@cêk 

nj igys ls fu/kkfjr dh tkuh pkfg,A 

5. Risk can be controlled in capital budgeting by 

assuming higher discount rate. 

mPprj fMLdkmUV@cêk nj ekudj iw¡th ctVu esa tksf[ke 

fu;af=r fd;k tk ldrk gS \ 

6. Business cycle and inflation is not a determinant of a 

dividend policy. 

O;olk;&pØ ,oa eqnzkLQhfr ykHkka’k uhfr dk ,d fu/kkZjd 

ugha gSA 

7. Concept of capital includes share capital and long-term 

debt. 

va’k iw¡th ,oa nh?kZdkfyd _.k] iw¡th dh vo/kkj.kk ds 

vUrxZr vkrs gSaA 
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8. If DOL is 1.24 and DFL is 1.89 then DCL would be 

1.52. 

;fn DOL 1.24 gS rFkk DFL 1.89 gS rks DCL 1.52 gksxhA 

9. Marginal cost of capital is generally higher than 

average cost of capital of a firm. 

,d QeZ dh lhekUr iw¡th ykxr lkekU;r;k vkSlr iw¡th 

ykxr ls vf/kd gksrh gSA 

10. Conversion of debentures into equity will increase the 

debt-equity ratio of a firm. 

_.ki=ksa dk va’kiw¡th esa ifjorZu ,d QeZ dk _.k&va’k 

vuqikr c<+k nsxkA 

 

 

 

 

 

 

 

 

 

 

 

BBA—502  90


